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UPCOMING ONLINE BATCHES
MARCH 2023

15 MARCH 2023

08:00 AM to 10:00 AM

01 MARCH 2023

10:30 AM to 12:30 PM

29 MARCH 2023

08:00 AM to0 10:00 AM

SSC ONLINE LIVE CLASS BANK ONLINE LIVE CLASS SSC ONLINE LIVE CLASS

BILINGUAL BILINGUAL BILINGUAL

22 MARCH 2023

02:00 PMto 04:00 PM

BANK ONLINE LIVE CLASS

05 APRIL 2023

05:30 PM to 07:30 PM

BANK ONLINE LIVE CLASS

ENGLISH & BENGALI BILINGUAL

@Q www.mahendras.org e ) 7052477777/7052577777



IBPS / BANK / LIC / SBI at 9:00 AM

RRBs — CRP RRB-XI1I {Office Assistants) and CRP RRB-XII (OfTicers)

Preliminary Examination

Office Assistants and Officer Scale [ :
05.08.2023, 06.08.2023, 12.08.2023, 13.08.2023 and
19.08.2023.

Single Examination

Officers Scale 11 & 111 : 10.09.2023

Main Examination

Officer Scale I : 10.09.2023
Office Assistants : 16.09.2023

PSBs — CRP CLERK-XIIIL,

CRP PO/MT-XIII & CRP SPL-XIII

Clerks

Probationary Officers Specialist Officers

Preliminary 26.08.2023
Examination 27.08.2023

02.09.2023

23.09.2023 30.12.2023
30.09.2023 31.12.2023

01.10.2023

Main 07.10.2023
Examination

05.11.2023 28.01.2024
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10 Ministers from P to Y took oath on 3™ and

12" of five months viz. April, May, June, July
and August.

Q took oath on the odd numbered date of the
month which has 31 days. Q and T took oath on
consecutive turns but not in same month. R took
oath before P but not just before. Only two
persons took oath after P. V took oath in the
month which has only 30 days but not in the
month of April. Only one person took oath
between V and W. X took oath just before Y, who
took oath on an even numbered date of the month
which has only 31 days. R did not take oath in the
month which has only 30 days. Only two persons
took oath between S and Q. V took oath before
W. T took oath before Q.

PH Y doh ok 10 RN = I eI shl de’T 37T 12

TRIG =i 9 | ST, A, S[H, S[ATs SN 3|
Q 7 3T HEH sh forem T areft g ohl 319 &,
e 31 i Ba 2

Q 3R T 7 AR S-a ¥ 319 ot Afeh Tah &
el H 721 R 7 P @ U8 399 ol Afer 3ieh Uaad
T P. V o 38 HeIH H 9 A o oS ohadl
SR 3 9 oft, [ haer 30 fam & afera o1t
& e | &1 V 3 W o i< shaiel Ueh ik
IO &l X 7Y & 3ish et 39 oft, e s9 aeie
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10 Ministers from P to Y took oath on 3™ and
12" of five months viz. April, May, June, July

and August.
Q took oath on the odd numbered date of the
month which has 31 days. ) and T took oath on

consecutive turns but not in same month. R took

oath before P but not just before. Only two LTUV*NQ
persons took oath after P. V took oath in the

month which has only 30 days but not in the

month of April. Only one person took oath
between V and W. X took oath just before Y, who

ehe——— ——
took oath on an even numbered date of the month

which has only 31 days. R did not take oath in the
month which has only 30 days. Only two persons

took oath between S and Q. ok oath before

W. T took oath before Q.
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IBPS / BANK / LIC / SBI at 9:00 AM

Type of Puzzle :-

Box based puzzles
Floor/lift based puzzles
Day/ Month/ Year based puzzles

Age based puzzles

Puzzles based on categorization.

Puzzles based on comparison. (Based on height, color, ma{rks, ages and

Seating arrangement etc)

Puzzles based on Blood Relation.
Designation based (salary, experience etc)
Matrix based Puzzle
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Type of Sitting Arragement

® Circular Arrangement @ d}

*Linear Arrangement F1F+4—

®* Triangular Arrangement ii

®* Square Base

®* Rectangle Base _

—

* Uncertain person Base

\

®* Double circle or Double Square Base

U]

A
> P

at 9:00 AM
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Here some Conjunction is also used instead of name of candidate. In that case:

=
If AND/BUT is used then subject of the previous sentence (name of

first candidate) will be used.

gfe 3T / ATRT T SUTRT TRt SATaT 8 O oI STeRy (T SIS T
ATH) o TS hT ST TRt ST
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s

If WHO/ WHOM / WH WHICH is used then object of the previous
sentence (name of second candidate) will be used.

At I/ ITHehT / ISTHERT ST STANT {ehalT ST 2 a1 TUselt arerr (S8 SEiear st
ATH) o TS ST SURIT R SATU|
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Important points to Start the puzzle

* Negative
* Double / Triple MmN — @

* Immediate

" Only
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Important points
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A, B,C, D, E, F, Gand H are sitting around a square table in such a way that four of them sit at
four corners of the square while four sit in the middle of each of the four sides. Those who sit at
the four corners faces outside while those who sit in the middle of the sides face the center of the
table. D sits third to the left of G. E sits third to the left of C. C does not sits any of the corners.
Only one person sits between C and F. Only one person sits between D and F. A is an immediate
neighbor of F but not an immediate neighbor of C. The number of the person sitting between B
and F 1s same as the number of the person sitting between D and C.

A, B, C,D,E, F, G 3R H U JfiehR Al oh I 3T 39 TR IS & foh ITH H IR I oh IR Al I
oIS & STeifeh =R =R ST H § Yceh oh Wl H oI3 8] ST AN =R ] TS & ST 7 ST hl RN
& STelfeh ST YT o 1< H I3 & IAehT H@ HSl o % shl AR &1 D, G o 1 § 16l T W a7 7l E,
C o ¥ G e LI 9T ST 21 C fordY Hff shie | &1 13T 81 C 3TR F o o< shalel Uah A<k ST 21 D
3 F o oI vl Teh &<k 93T 21 A, F 1 Fepedw ueie 2, Afera C a1 fFered geie 121 21

B 37X F & st o8 =afxh sl @&am D 3R C & st 93 =itk sht 6t o G0 2
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A,B,C,D, E, F, Gand H are sitting around a

square table in such a way that four of them

sit at four corners of the square while four sit
e
in the middle of each of the four sides. Those

who sit at the four corners faces outside while

those who sit in the middle of the sides face
the center of the table. D sits third to the left
of G. E sits third to the left of C. C does not

sits any of the corners. Only one person sits

between C and F. Only one person sits
between D and @ 1s an immediate neighbor

—

of F but not an immediate neighbor of C. The

—

number of the person sitting between B and F

1s same as the number of the person sitting
between D and C.

at 9:00 AM
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TR
. In a Certain code TEACHER is written as 2121135, than

find the code for RECHARD ?
U fATad $1s & TEACHER FT F15 2121135 fa@T aram

& , RECHARD Y T 1S T 1917 ? Gigger € 3o

FEACH E
(1) 1525182 ~ [ EACTER
(2)1915425 , > '3 %30
192112 A2 13 g
(4) 1015185 B
(5) None of these
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Seven persons A, B, C, D, E, F and G are sitting in row and all are facing

towards north but not necessarily in the same order. B sits second from one of
the extreme ends. Three persons sit between D and B. Two persons sit between
D and A. C sits to the immediate left of A. F sits to left of C but 1s not an

immediate neighbour of C. More than two persons sit between F and E.

|1 Afh A, B, C, D, E, F 3R G Ufth 1 o & TR At &l 7@ I AT AN 2 Afeh
STTErTeh & gl 6w H 2| B forelt T 3 S 8 g T W s3] D 3 B

= 9 Stk 9 21 D 3T A & o= S Afh 98 81 C, A & 3ok 915 T S3dT 21 F,
C % 918 3T 9347 2, <ifshd C a1 fHeredm ueret 7€t 81 F 311 E & o= a1 9 31feren

=<k S3d 2
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Seven persons A, B, C, D, E, F and G are sitting in row and all are facing

towards north but not necessarily in the same order. B sits second from one of
the extreme ends. Three persons sit between D and B. Two persons sit between
D and A. C sits to the immediate left of A. F sits to left of C but 1s not an
immediate neighbour of C. More than two persons sit between F and E.

. FDGc A B E

< Attt
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In a Certain code SPOT is written as 10762 , than find the

code for FARM ?

U [ATRTd FIZ A SPOTFT T 10762 F@T AT, aY
FARM T IS &7 g9 ?

(1) 611813 SpPOT = AR i

(2) 6193 7l ; zi1) B } ! |
3 |

(3) 6914 i / } | L

/
/ 7 6 (
4) 4691 ’6//_
None of these




IBPS / BANK / LIC / SBI
Seven persons A, B, C, D, E, F and G arq &4t A, B, C, D, E, F 3R G T
are sitting around the circular table but AT AT o R 3R oIS & Ao ST&
not necessarily in same order. All are 21 b 3ol 3p| T 21| Tt o T 3TR
facing towards center. Two persons sit 3:5,_@%| F 3R G o =l 1 Fih oIS &
between F and G. G does not sit second G, D o GC\H\{ T 9 A 93T 21 D,
to the left of D. D sits third to the right C % 31 A ffeR T T SI3T 81 B, A %
of C. B sits fourth to the right of A. E SR U A TIH W38l E, A h R |

sits second to the right of A. D is QHL HIT T SIaT 2
immediate left of E. MR | | %I G 37X C o 3leh o1

[~

Who among the following sits exactly LG
between G and C? 1. A 2.B 3.D 4 E 5. F

I.A 2.B 3.D 4. E S5.F
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Seven persons A, B, C, D, E, Fand G

are sitting around the circular table but C % o

[~

not necessarily in same order. All are

facing towards center. Two persons sit <~— =

between F and G. G does not sit second

to the left of D. D sits third to the right = D
of C. B sits fourth to the right of A. E H

Eits second to the right of A.D 1S

immediate left of E. J

Who among the following sits exactly
between G and C?
1.A (2.By3.D 4. E 5. F
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In a Certain code ACEG is written as EGIB , than find the

code for ADGJ ?
T+ [Afad F2T A ACEG FT T EGIB ﬁnmmn% ADG!

Y T IS FIT G191 ? S w =

\ 2 s 7 A D G 3'
(1) EEHH @MEQ &) Wah T w
(2) NQTV NPRT NS
(3) EHBG ‘:Y\ €18 o | g I
Y EHBE sg‘% L s é ;/
(5) None of these < = ¢ —  +
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at 9:00 AM

Eight friends A, B, C, D, E, F, G and H are sitting HAERE A B C.D.E F. G3NH 0% I R

1n a circle, but not necessarily in the same order.

Four of them are facing outside and four of them

are facing the centre. F sits second to right of E,
who faces the centre. There are three friends sit

between E and D. A and B face opposite

direction. C 1s not an immediate neighbor of A. A

sits second to the right of B. F 1s an immediate
neighbor of B, who faces outside the centre. B
and E face opposite direction .Immediate
neighbour of C face the same direction .H is an
immediate neighbor of D. A sits second to the
right of G. Immediate left neighbour of G face

the opposite direction.

2, TfoheT A9k T21 THl shH || 390 & IR STeT
I 3R 3@ & TR ITH § TR 5 hl 3R 3@ 2
F GO T T SI3T € E o R, ST ohs; 2l 3T 39
21 E 3R D o o= dF i S5 81 A iR B H1 @
fodia feem &t 31 8 | C, A 1 FHehead gl Tt
2. A, B % IR § T TIH W S3T 8. F, BT
fieheam TS 7, TSTEehT 7@ 93 o SITeX shl 3T 2.
B 3TN E foro{iq fammm &t 3 37@ € |C % fshean
g T 4 FHH o1 skl SRS | H, D &
feneaw TSl 2. A, G % T § T T W 13|
2. G % Fehead o werE T 9 foodia fawm <l
AN .
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Eight friends A, B, C, D, E, F, G and H are sitting

1n a circle, but not necessarily in the same order.

[~

Four of them are facing outside and four of them

are facing the centre. F sits second to right of E,

who faces the centre. There are three friends sit

between E and D. A and B face opposite

direction. C 1s not an immediate neighbor of A. A

sits second to the right of B. F 1s an immediate .

neighbor of B, who faces outside the centre. B

and E face opposite direction .Immediate
neighbour of C face the same direction .H 1s an
immediate neighbor of D. A sits second to the

right of G. Immediate left neighbour of G face

the opposite direction.
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In a Certain code DECISION is written as 45135 ,than find
the code for DECODINA ?

U ATRTT FI5 A DECISION FTHIT 45135 fa@T AT

dY DECODINA T 1 T 1917 ?
(1) 7509 DECIS§ON, DEcCo DT NVA
q 'S _
(2) 2564 S S 1S g
N/
(3) 1468 us ,\; ~

(@)1252_
> |
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Eight persons A, B, C, D, E, F, G and H are
sitting 1n a horizontal row. Four of them are
facing north while the rest are facing south.
G 1s the third person from left ends. Two
people sitting at extreme ends face in the
same direction. Three people sit between B
and C. Neighbours of D face in the same
direction but opposite to D. Neither C nor D
sit at the extreme end. E sits to the left of H,
A sits adjacent D . B sits adjacent to G and
faces south. A and F are second to the left
of each other. Neither A nor F sit at the

extreme end.

IS AR A, B, C,D, E,F, GINHTH
QT 4tk 1S | 3TH & AT AT 7@ I I
3T & Sfelfep Y Sfafor sht 3T 3@ 8l G
¢ SR H e i<k gl 3T SR WS &l
Sf<h GHTH G2 H 3@ &l B 3R C & 7e
A9 <k o3 1 D % YSITE=IT 1 7@ §HH
fasm & @ SfeRT D o faudia) T a1 C ST &
D A SR W IS B E, H F =& 9371 8. A,
Do AR | B, G o ET 318

3 0T AT X 3G =l A 3R F T &
R U GE T W8 | AT A AT F
3 B WIS B
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Eight persons A, B, C, D, E, F, G and H are

sitting 1n a horizontal row. Four of them are

1s the third person from left ends. Two people

v/
facing north while the rest are facing south. G E B
/,‘T |

|
sitting at extreme ends face in the same bV
direction. Three people sit between B and C.
Neighbours of D face in the same direction bu
opposite to D. Neither C nor D sit at the ed 1 /}: gl C
¥

extreme end E sits to the left of H. A sits

adjacent D.B B sits adjacent to G and faces l
south. A and F are second to the left of each C ]/\ i ;

other. Neither A nor F sit at the extreme end. U
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In a Certain code GATHER is written as 0908 , than find
the code for DESIGN ?

s fATT FIE A GATHER FTH13 0908 o @T AT R,

DESIGN Y T IS &7 31917 ?
A 36
0611 D e s g 7
(2) 0809 'j 20 =0 : 7 5!
(3) 0612 I ¢ N s
(4) 0709 8N al — 93¢ (Il

(5) None of these
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There are three row 1, row 2 and row 3 such that row 2 is in the north of row 3 and row 1 is the

north of row 2, there are four person sitting in Row 1, eight person sitting-inrew-2-and four
— I —Z s s
person sitting in row 3. ", = =

—

Person sitting in the row 3 faces north. Person sitting in a row 1 faces south. First four person

sitting from west to east in row 2 faces north and last four person sitting from west to east in

row 2 faces south .All the person sitting in row 1 and 3 are facing the person sitting in the row 2.
RSP K are in first row. E is sitting in the row which has 8 person. E faces the one who sits
second the right of P. No one sit on the left of E. only one person sit between P and R. Only two
persons sit between R and the one who faces F. D sits immediate right of F. D does not sits at the
end of the row. Q sits second to the right of the one who faces D.A faces the one who sits on the
immediate left of Q. G faces S but does not sits at the end of the row. P is not the immediate
neighbour of G. only one person sit between K and S. K faces the one who sits third to the right
of N. J and M are the immediate neighbour. J does not faces D .only two persons sit between M

and L. More than two person sit between B and C who does not faces L.
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ufer 1, ufer 2 s ufr 3 Ut B fr ufm 2 R 3 s A R s ufw 1 uF 2 e a g, ufr 1 &
TR ST 93 8, Ufth 2 | 3118 STk 98 8 IR AR AR U 3 T IS T |
Uth 3 W 3T SATth ST ShT 3R UE haT g1 Uik 1 W 3T saf<h STerur sht o7 He ohiaT gl ufte 2 §
UTHT & o T 3R IS Ugel O ATk I sh TR & SR Utk 2 H Uf2m & udl i 3T a6 sifaw or
=afer gferor hY TR B UfvE 1 31R 3 & &3 =afwr Ul 2 # 98 safw hl SR T@ R T
R S P K gt ufvh | 8| E 39 Ufw W et ¢ forew § satw BIE &1 0@ 30 safw it iR Pk
T4 TERT 93T 21 E o 915 AR IS T8l 93T ¢ [P 3 R o i<l shael Ueh Sieh 98T 8l R R 3H
ST<h oh HEd el Gl 4 Th & (oTaehT 9@ F 3T TR 2 | D,F % i S 96T § | D Utkh o 3fd o T8
ISATE 1Q 3T =TTk o TS 3T 2nd ST 2 AT D kI IR TG WT 2 | A 3T ATk hl AR TG @I S0
Q o Uehed JTH1 a0 J34dT 8l G,S hl TR <& 18T 8, SIfeh Ufth o 37 W T8l aigat 21 P, G &t
AT TS IHT Tl 31 K 3R S & Sl ool Ueh STk 93aT ¢ | K 39 o4 fth ohl SR G @I AT N F
T Y A TS WISATE | JITR M eehTed USrE 21 J, D kT 3T 78 <& W@T § | Shael a1 s4fws M
3R L o Sl § S8d 31 B 31 C ok (<1 a1 ¥ 37{ereh o4 {h 9d g, ST L hl IR TE e@ @ 2 |
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é\_ There are three row 1, row 2 and row 3 such that row 2 is in the north of row 3 and row 1 is the north of row

2, there are four person sitting in Row 1, eight person sitting in row 2 and four person sitting in row 3.
Person sitting in the row 3 faces north. Person sitting in a row 1 faces south. First four person sitting from
west to east in row 2 faces north and last four person sitting from west to east in row 2 faces south .All the

person sitting in row 1 and 3 are facing the person sitting in the row 2.

é( S P K are in first row. E is sitting in the row which

has 8 person. E faces the one who sits second the
right of P. No one sit on the left of E. only one person
sit between P and R. Only two persons sit between R
and the one who faces F. D sits immediate right of F.
D does not sits at the end of the row. Q sits second to
the right of the one who faces D.A faces the one who
sits on the immediate left of Q. G faces S but does not
sits at the end of the row. P is not the immediate
neighbour of G. only one person sit between K and S.
K faces the one who sits third to the right of N. J and
M are the immediate neighbour. J does not faces D
.only two persons sit between M and L. More than
two person sit between B and C who does not faces‘Iﬁ

at 9:00 AM 2
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